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°c °C 3 mg/L mg/L mg/L mg/L mg/L mg/L

1 5] 838 15.7 0.0 7.3

2 i 71 15.6 0.0 7.3

3 i 4.7 15.7 0.0 74

4 i 10.9 15.7 0.1 74

5 = 9.2 16.0 0.1 74 50.1 440 141 54| <003 <002

6 % 10.2 15.8 0.2 7.3

7 5] 7.0 15.7 0.0 74

8 = 8.6 15.8 0.1 74

9 i 6.7 15.7 0.0 74

10 i 46 15.6 0.0 74

1 i 54 15.7 0.1 7.3

12 5] 8.9 15.9 0.1 7.3 51.5 430 138 54| <003 <002

13 i 9.0 15.7 0.0 74

14 i 9.7 15.8 0.1 74

15 i 9.3 16.1 0.0 74

16 i 100 15.6 0.0 74

17 = 1.4 16.0 0.1 74

18 i 148 15.9 0.1 74

19 = 7.9 15.7 0.0 7.3

20 i 138 15.6 0.0 74

21 i 8.1 15.7 0.0 7.3

22 i 7.7 15.7 0.0 7.3

23 5] 6.2 155 0.0 7.3

24 = 9.9 15.6 0.1 7.3

25 5] 13.2 15.9 0.1 7.3

26 5] 10.6 15.7 0.6 7.2

27 i 9.8 15.8 0.1 7.3

28 = 108 155 0.1 7.2

29 5] 176 16.0 0.3 7.3

30 i 20.1 15.8 0.0 7.3

31 i 21.7 16.5 0.0 7.3

E iy 10.1 15.8 0.1 7.3 50.8 435 140 54| <003 <0.02
= 21.7 16.5 0.6 74 51.5 440 141 54| <003 <0.02
& & 46 15.5 0.0 7.2 50.1 430 138 54| <003 <0.02




